
C1

C1 is _______ than 15 years old.

Answer: ___________________

15 years old is _______ than C1.

Answer: ___________________

C1 is _______ years older than 15.

Answer: ___________________

C1 is _______ years younger than 15.

Answer: ___________________

15 is _______ than C1.

Answer: ___________________

15 is _______ years older than C1.

Answer: ___________________

15 is _______ years younger than C1.

Answer: ___________________

C1 and 15 are _______ in age.

Answer: ___________________

C1 and 15 have a _______ age difference.

Answer: ___________________

C1 is _______ years away from being 15.

Answer: ___________________



Answers

C1 is _______ than 15 years old.

Answer: older

15 years old is _______ than C1.

Answer: younger

C1 is _______ years older than 15.

Answer: 15

C1 is _______ years younger than 15.

Answer: 15

15 is _______ than C1.

Answer: younger

15 is _______ years older than C1.

Answer: 15

15 is _______ years younger than C1.

Answer: 15

C1 and 15 are _______ in age.

Answer: equal

C1 and 15 have a _______ age difference.

Answer: 15-year

C1 is _______ years away from being 15.

Answer: less


